Probability Distributions

Uniform Distribution
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Jeremy is a computing consultant who sometimes works at home. The number, X, of days that
Jeremy works at home in any given week is modelled by the probability distribution

P(X=r) =gr(r+1) forr=1,2,3,4.

(i) Verify that P(X = 4) = 3. (1]
—() Caleulate EOG-ad-VarCGO— NOT oN SalLcpafuS [5]
(iii) Jeremy works for 45 weeks each year. Find the expected number of weeks during which he

works at home for exactly 2 days. [2]
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Four letters are taken out of their envelopes for signing. Unfortunately they are replaced randomly,
one in each envelope.

The probability distribution for the number of letters, X, which are now in the correct envelope is
given in the following table.

r 0 1 2 3 4

ren| 3 [ £ [ 4 |0 | &
(i) Explain why the case X = 3 is impossible. [1]
(i) Explain why P(X = 4) = 5. 2]

(iii) Calculate E(X) and Var(X) ANe T onN  SqciLaduS [5]
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